Lyneham Primary Year 4 Math Challenge Group

Ruby: Managed a sum of 101 on first try. She then analysed her route and compared part of it with an alternative route, which gave a sum that was one less, so that the total was 100.
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Kristina. Got her solution by trial and error (not further specified), but did then observe the slight difference between the routes and the impact that made on the sum.
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Mila: Method of attempting to write down all different routes

[image: image4.jpg]1 teeked for different rowes
and went dp o ¥ roules Hif fime
wovs up. Rouk€l —63, Route 243 Roude
3 - %5, Rowte U -A% Roule 516, Roucte
6- w’uwk % - 10





Tawhid: explained why his was the shortest route – any other routes were longer and increased the sum.
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Callum identified the same shortest rout
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Another student Alex had a go at finding the longest route, but that proved harder.

